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IKRBITEE v & — 547 561 1,108 275 265 540 50.27 47.24 48.74

2| KA REERREE 929 892 1,821 453 445 898 48.76 49.89 49.31

3| B FK 1,517 1,497 3,014 754 751 1,505 49.70 50.17 49.93

KA RELE > X — 1,411 1,223 2,634 647 576 1,223 45.85 47.10 46.43

S| E/NFR 2,233 2,097 4,330 1,013 962 1,975 45.36 45.88 45.61

6NNt R — 1,682 1,640 3,322 817 787 1,604 48.57 47.99 48.28

TIREF R RNFER 1,625 1,488 3,113 613 525 1,138 37.72 35.28 36.56

8| FE) I/ NF 1,082 1,244 2,326 541 545 1,086 50.00 43.81 46.69

9L’ 1,565 1,129 2,694 616 398 1,014 39.36 35.25 37.64
10| S 2 H/NF I 955 1,052 2,007 464 446 910 48.59 42.40 45.34
IRNE::VENS g RS e e 886 944 1,830 441 460 901 49.77 48.73 49.23
128F1THE X — 1,114 1,139 2,253 511 474 985 45.87 41.62 43.72
13| NFR 2,243 2,147 4,390 1,022 956 1,978 45.56 4453 45.06
14 FE =TT 233 262 495 158 155 313 67.81 59.16 63.23
15| BB =X 1,627 1,374 3,001 743 579 1,322 45.67 42.14 44.05
16|ER/NFK 1,702 1,665 3,367 809 787 1,596 47.53 47.27 47.40
17| ERFNER 1,212 1,191 2,403 546 515 1,061 45.05 43.24 44.15
18|5IFT=EE 1,459 1,434 2,893 623 605 1,228 42.70 42.19 42.45
9 ERTHE X — 2,152 2,194 4,346 977 1,005 1,982 45.40 45.81 45.61
20| ERF/NFR 1,914 1,779 3,693 772 658 1,430 40.33 36.99 38.72
21| R E—X&ERFT 1,338 1,300 2,638 592 537 1,129 44.25 41.31 42.80
22|35 — X ERFT 1,519 1,420 2,939 565 504 1,069 37.20 35.49 36.37
23| HESRERT 842 824 1,666 405 399 804 48.10 48.42 48.26
4| BEERITHE Y X — 862 889 1,751 426 410 836 49.42 46.12 47.74
BIREEFREy 2 — 533 533 1,066 260 249 509 48.78 46.72 47.75
26| E/NREERFR 1,474 1,449 2,923 679 650 1,329 46.07 44.86 45.47
27| BT =88 982 966 1,948 427 429 856 43.48 4441 43.94
8 FHIIEREY & — 1,583 1,464 3,047 693 651 1,344 43.78 4447 4411
29| JB/NER 1,698 1,593 3,291 713 677 1,390 41.99 42.50 42.24
30| R/EHTREE 1,486 1,393 2,879 652 597 1,249 43.88 42.86 43.38
B1PREFITH > % — 1,097 1,108 2,205 543 543 1,086 49.50 49.01 49.25
R|EHENINEREYy & — 2,544 2,280 4,824 1,073 962 2,035 42.18 42.19 42.18
33| A/ N FR 2,326 2,340 4,666 1,312 1,227 2,539 56.41 52.44 54.41
34| ANETEB 478 474 952 230 227 457 48.12 47.89 48.00
35| AT BERFT 1,995 1,849 3,844 860 779 1,639 43.11 42.13 42.64
36| ARTEEEERT 1,034 1,111 2,145 504 534 1,038 48.74 48.06 48.39
37| HRIFIER > 2 — 1,375 1,384 2,759 738 726 1,464 53.67 52.46 53.06
38| 4-R=EE 907 1,013 1,920 459 459 918 50.61 45.31 47.81
39|FENP/NER 1,720 1,572 3,292 797 717 1,514 46.34 45.61 45.99
40| RIGERT 1,097 1,137 2,234 532 541 1,073 48.50 47.58 48.03
A KRETEEEER 737 743 1,480 324 342 666 43.96 46.03 45.00
RBERFRXRAEE 1,204 1,158 2,362 528 501 1,029 43.85 43.26 43.56
43| BEFIARR =EE 730 648 1,378 293 273 566 40.14 42.13 41.07
44| Sl ERTRER 1,169 1,181 2,350 535 487 1,022 4577 41.24 43.49
45| BRR R EE 1,071 1,107 2,178 564 552 1,116 52.66 49.86 51.24
46| R R FR 983 1,026 2,009 487 482 969 49.54 46.98 48.23
47| BAREE 733 600 1,333 342 278 620 46.66 46.33 46.51
43| E BB 2AEE 983 922 1,905 434 396 830 4415 42.95 43.57
OB LEFBE=RER 727 712 1,439 359 340 699 49.38 47.75 48.58
S0|ESITE Y % — 1,030 1,045 2,075 480 515 995 46.60 49.28 47.95
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SlIEEREL Y & — 1,552 1,566 3,118 627 621 1,248 40.40 39.66 40.03
52| RATTEtE > % — 1,462 1,502 2,964 734 682 1,416 50.21 4541 AT.77
B3| NIBTE £ > & — 1,455 1,444 2,899 747 677 1,424 51.34 46.88 49.12
S| KligHhHZ oRERE 1,075 1,146 2,221 484 455 939 45.02 39.70 42.28
55 MK R=EE 1,467 1,467 2,934 726 683 1,409 49.49 46.56 48.02
56| F HERERFT 1,271 1,263 2,534 521 464 985 40.99 36.74 38.87
57| B HALERFT 607 602 1,209 273 242 515 44.98 40.20 42.60
58| mEF A ~EE 232 241 473 121 105 226 52.16 43.57 47.78
59| HRFT R 1,478 1,492 2,970 649 620 1,269 43.91 41.55 42.73
60| #BFTITE > %X — 874 901 1,775 370 361 731 42.33 40.07 41.18
61| LR TREE 604 571 1,175 233 236 469 38.58 41.33 39.91
62| R HX N REE 987 968 1,955 453 393 846 45.90 40.60 43.27
63| = SHX AN REE 1,370 1,389 2,759 604 582 1,186 44.09 41.90 42.99
64| 1Lz R REE 1,477 1,457 2,934 593 543 1,136 40.15 37.27 38.72
65| KER—X A REE 979 1,044 2,023 373 346 719 38.10 33.14 35.54
66| KR AKX A REE 1,589 1,665 3,254 708 717 1,425 44.56 43.06 43.79
67| KREXAREE 2,196 2,110 4,306 786 697 1,483 35.79 33.03 34.44
68| T ET =R 1,452 1,478 2,930 708 706 1,414 48.76 AT.77 48.26
69| B HEERFT 460 485 945 210 214 424 45.65 4412 44.87
70|\ AREE 1,038 1,018 2,056 572 541 1,113 55.11 53.14 54.13
T1HEASHET - BEFETER Y 2 — 943 891 1,834 420 373 793 4454 41.86 43.24

aEt 88,913 | 86,893 | 175,806 | 40,513 | 38,136 | 78,649 45.56 43.89 4474




